MPM2D
Linear Systems – Substitution Method
Park

· The method of solving "by substitution" works by solving one of the equations (you choose which one) for one of the variables (you choose which one).  

· Then you plug this back into the other equation, "substituting" for the chosen variable and solving for the other. 

· Then you back-solve for the first variable.

Solve the following system by substitution.
2x – 3y = –2
4x +   y = 24
· For instance, in this case, can you see that it would probably be simplest to solve the second equation for "y =", 
· I'll solve the second equation for y:

4x + y = 24
y = –4x + 24
Example 3 Solve Using the Method of Substitution
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